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Section 1 - Paperl-English Language

1) Fill in the blank with the correct option:

He likes to walk feet on grass but he must in mind that there are thorns in the grass.

A) beer, bare
B) bier, beer
C) bear, bare
D) bare, bear

2) Fill in the blank with correct prefix or suffix:

Hercules was considered as a god.

A) demi

o= Techofworld.In

D) extra

3) Which of the following is the appropriate meaning of the idiom "Break the bank"?

A) Buying things after a lot of bargain
B) Robbing a bank

C) Buying a bank

D) Being very expensive

4) Which of the following words is correctly spelt?

A) adherence
B) adharance
C) adehrence
D) adherance

5) Choose the meaning of the idiom "As bald as a coot" from the alternatives given below.

A) Slightly bald

B) Completely bald
C) Mildly bald

D) Not bald at all
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Passage questions (6-10)
Read the passage and answer the questions that follow:

Dan Cahil thought he had the most annoying big sister on the planet. And that was before she set fire to two million
dollars.

It all started when they went to their grandmother's funeral. Secretly, Dan was excited, because he was hoping to
make a rubbing of the tombstone after everyone else was gone. He figured Grace wouldn't care. She'd been a cool
grandmother.

Dan loved collecting things. He collected baseball cards, autographs of famous outlaws, Civil War weapons, rare
coins, and every cast he'd ever had since kindergarten (all twelve of them). At the moment, what he liked collecting
best were charcoal rubbings of tombstones. He had some awesome ones back at the apartment.

6) What were the tombstone rubbings made up of?

A) Autographs.
B) Charcoal.
C) Coins.

D) Weapons.

7) Who had set two million dollars on fire?

A) Dan's grandmother.
B) Dan.

C) Grace. Techofworld.In

D) Dan's sister.

8) What awesome things did Dan Cahil have at the apartment?

A) Charcoal rubbings of the tombstone
B) Rare coins

C) Autograph of famous outlaws

D) Baseball cards

9) What was Dan planning to do after everyone left?

A) Collect flowers from the garden.
B) Make a rubbing of the tombstone.
C) Lay flowers at the tombstone.

D) Scold Grace for her actions.

10) What did Dan think of Grace?

A) Most irritating.
B) Most benevolent.
C) Cool.

D) Humorous.
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Section 2 - Paperl-Education and General Awareness

11) The Annual Status of Education is a report of the largest household survey undertaken by the NGO -

A) Pratham foundation

B) Akshara Foundation
C) Child Relief and You
D) Centre for Civil Society

12) The attaching of anganwadis/preschools with a primary school to provide children opportunities to learn in a
cohesive environment is called?

A) Co-existance
B) Co-developing

o et T @achofworld.In

13) The Education Commission of 1964 was chaired by

A) DR. V. S. Jha, Director of the Commonwealth Education Liaison Unit, London

B) R. A. Gopalaswami, Director, Institute of Applied Manpower Research

C) Prof. D. S. Kothari, Chairman of UGC

D) A. R. Dawood, Officiating Director, Extension Programmes for Secondary Education

14) Who became the first Chief Election Commissioner of India?

A) M. S. Gill

B) S. Y. Quraishi
C) Sukumar Sen
D) V. S. Ramadevi

15) Aquatic birds like flamingos can keep their feathers water-proof due to oily secretion of a gland. What is the name
of the gland?

A) Cutaneous gland
B) Sudorific gland
C) Sebaceous gland
D) Uropygial gland
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Section 3 - Paperl-Reasoning

16) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.
2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

How is P related to Q7?

|. P is the father-in-law of R, who is the mother of Q.

Il. Q's mother is the daughter-in-law of P.

22

ggg Techofworld.In

17) Janardan starts from point 'A' and walks 20 m towards East. Then he walks 20 m towards south-west. Then he
walks 20 m towards north-west and reaches point B. What is the distance between A and B?

A) EO\}EJH.
B) Om.
C) 20m.

(202-1)m.
D) -
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18) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.
Is x a prime number?

I. x is an odd number.
Il. x is a multiple of 5.

A) 3
B) 1

2z Techofworld.In

19) In a certain code language, if the word ABACUS is coded as ABASUC, then how will the word ACTION be coded
in that language?

A) TCANOI
B) ANTCOI
C) TONACI
D) TACONI

20) Pointing to Rohit, Rohini said, "I am the daughter of the only son of his father", how is Rohini related to the Rohit?

A) Mother
B) Wife

C) Daughter
D) Niece
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Section 4 - Paperl-Teaching Aptitude

21) A teacher filled a tumbler of juice each in a tall lean glass and in a short fat glass. She asked a child to identify
the glass which had more juice. What did she want to find out from her first graders?

A) whether they could drink two glasses of juice

B) whether they could add liquid quantities

C) whether they could estimate the nature of liquids in a glass
D) whether they understood conservation of liquids

22) Identify the institutions and organizations which are set up by the society to impart definite knowledge in a specified
time under a structured environment.

A) Incidental agencies
B) Formal agencies

C) Non- formal agencies
D) Informal agencies

23) An intelligent learner is apprehensive and afraid of achieving his much desired aim. Which of the following factors
should he consider tackling in order to clear his path?

A) Social Status
B) Economic Status

o cmprenensin ity T acOfWOrld.In

24) Which of the following teachers is using biased language in a classroom?

A) Teacher C calls a student Scruffy because he is so thin and weak and looks emaciated.

B) Teacher D calls a student by her middle name Williams because she forgot her name.

C) Teacher B calls a student youngest Khan because he is the youngest of the three brothers.

D) Teacher A calls a student by his name Harish instead of Sharma because there are two Sharmas in the class.

25) Which of the following situations explains the aim of a deductive classroom session?

A) Students verify the theory and generalizations presented to them
B) Students discover solution to the problem by inquiry

C) Students develop projects on concerned topic

D) Students develop concept maps

26) How many Pillars of Education were put forth by Delors Report?

A) 2

AN

)
)
)
)

oo0Om
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27) In a Civics class, a teacher shows the students examples of the daily lives of great people in the form of videos
with citations from their lives. What do you think the teacher is aiming at?

A) Entertaining them by showing videos, as movies

B) Model the behavior of great people through observation

C) Passing time and keeping the students occupied through visuals
D) Telling them about the historical facts

28) National Teachers Congress with the theme 'Leapfrogging to Future Ready Higher Education” in the year 2019
was held in

A) Pune

B) Nagpur
C) Mumbai
D) Nanded

29) What is the type of learning called which uses sense of perception of things to be learned?

A) Sensory learning
B) Cognitive learning

C) Verbal learning TeChOfWO rld - I n

D) Motor learning

30) Social and affective strategies involve

A) Research

B) Experimenting

C) Questioning for clarification

D) Learning the answers by rote memory
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Section 5 - Paperll-General English

31) Replace the word in bold with its synonym:

Even the meagre aid helped the family to tide over difficult times for some time.

A) surplus
B) plenty
C) rich

D) scanty

Passage questions (32 -36)
Read the following passage and answer the questions given below:

Adolescents differ from adults in the way they behave, solve problems, and make decisions. There is a biological
explanation for this difference. Studies have shown that brains continue to mature and develop throughout childhood
and adolescence and well into early adulthood. Scientists have identified a specific region of the brain called the
amygdala that is responsible for immediate reactions including fear and aggressive behavior. This region develops
early. However, the frontal cortex, the area of the brain that controls reasoning and helps us think before we act,
develops later. This part of the brain is still changing and maturing well into adulthood. Pictures of the brain in action
show that adolescents' brains work differently than adults when they make decisions or solve problems. Their actions
are guided more by the emotional and reactive amygdala and less by the thoughtful, logical frontal cortex. Research
has also shown that exposure to drugs and alcohol during the teen years can change or delay these developments.
These brain differences don't mean that young people can't make good decisions or tell the difference between right
and wrong. It also doesn't mean that they shouldn't be held responsible for their actions.

32) Adolescents actions are guided more by

A) the emotional and reactive amygdala

B) the thoughtful, logical frontal cortex TeCh OfWO rI d = I n
C) drugs that support their amygdala

D) the developed and more supportive brain

33) The biological explanation for adolescent behaviour is that they are

A) addicted to drugs and alchohol and so the seat of reasoning is impaired
B) irresponsible and emotional due to underdeveloped logical faculties

C) more dependent on the amygdala in this developing stage

D) independent of the amygdala but still dependent on emotional reaction

34) Which of the following statements finds support in the passage?

A) Young people should not be harshly judged for their actions
B) Young people should be penalised for their actions

C) Young people should not be held responsible for their actions
D) Young people should be held responsible for their actions

Page8of20
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35) The amygdala is responsible for

A) mature and rational behaviour

B) intelligent and reasoned reaction

C) taking decisions and solving problems
D) reactive emotional behaviour

36) According to the passage, pictures of the brain in action show that

A) adolescents' brains work efficiently
B) adolescents' brains work easily

C) adolescents' brains work similarly
D) adolescents' brains work differently

37) Choose the correct spelling of the missing word.

They the wheat from the chaff.

A) seprated
B) separeted
C) separated
D) sepereted

38) The antonym of 'Acumen’ is

A) initiative

o noere Techofworld.In

D) cleverness

39) Select the option which corrects the following sentence: lets eat dadu

A) Let's eat, Dadu.
B) Lets eat dadu
C) Let's eat Dadu.
D) Let's eat dadu

40) Choose the correct word from the options below to replace the word in bold.

The fees collected from the children will able the school to support sporting talent.

A) enable
B) disable
C) unable
D) inable
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41) Choose the correct passive of the following sentence.
Who gave you permission to leave the class?

A) By whom were you given the permission to left the class?
B) By whom were you give the permission to leave the class?

C) By whom you were given the permission to leave the class?
D) By whom were you given permission to leave the class?

42) Select the correct part of speech of the word in bold from the options given below.

She speaks well so we selected her as our representative.

) Adverb

@ seme Tachofworld.In

D) Verb

43) Which of the following sentences is in Active voice?

A) For the last two years medicines are being bought by me from this shop.
B) My buying medicines for the last two years is from this shop.

C) Medicines buying by me for the last two years is from this shop

D) | have been buying medicines from this shop for the last two years.

44) Replace the word in bold with its synonym.

They made a solemn promise to help the poor in time of need.
A) ignorant

B) frivolous

C) thoughtless
D) sober

45) Select the correct option to fill in the blank.

Her nest if the tree hadn't fallen in the storm.

A) would have been saved
B) will be saved

C) would be saved

D) will have been saved
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Section 6 - Paperll-Odia Language
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Section 7 - Paperll-History and Political Science

56) Which Writs means 'What is your Authority'?

A) Habeaus Corpus
B) Ceritorari

C) Quo Warranto
D) Prohibition

57) From 1772 a new system of justice was established by the British in India. In this system, if Faujdari Adalat was
a criminal court; what would Diwani Adalat be?

A) Revenue court
B) Family court

C) Civil court

D) Income tax court

58) According to the Regulating Act in Bengal, Diwani rights were given to the Company and Subedari rights to the
Nawab. What was this system called?

A) Princely States Government

B) Dual Government T h f |d I

C) Proxy Government eC O Wor E n
D) Subsidiary Government

59) If the Speaker of Lok Sabha intends to vacate his office before the expiry of his term, he sends his resignation to
whom?

A) Leader of the house

B) President Of India

C) Deputy Speaker Of the Lok Sabha
D) Chairman of the Rajya Sabha

60) Who is the Father of the Indian Constitution?

A) Dr. B. R. Ambedkar
B) Jawaharlal Nehru
C) KM Munshi

D) Navdeep Choudhary

61) How did members of Paramahansa Mandali demonstrate their disagreement with caste system?

A) by eating food cooked by low caste people

B) by promoting inter-caste marriages

C) by promoting social gathering of people from all castes
D) by appointing low caste people as their leaders
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62) Who among the following founded the Indian National Congress?

A) A. O. Hume

B) Dadabhai Naoroji

C) Surendranath Banerjee
D) Henry Derojio

63) The English East Company appointed Residents in Indian states to secure the interests of the Company by:

I. interfering in the internal affairs of the states
Il. controlling the treasury of the state
lll. deciding who was to be the successor to the throne

IV. deciding appointments in administrative posts

A) I lland Il
B) I, lll and IV
C) Only IV
D) ALL

64) What was the main agenda of the Tennis Court Oath taken by the National assembly?

A) All three estates would be entitled to same privileges
B) Not to disperse until achieving constitutional reform

C) Hegemony of the Clergy was to be removed TeC h OfWO rI d 2 I n

D) The three estates would be dissolved into one

65) What was the 10-month period in which suspected enemies of the revolution were beheaded by the thousands?

A) Reign of Horror
B) Reign of Black Death
C) Reign of Terror
D) Reign of Death

66) Trading with India was highly profitable and fruitful to the English East India company. What did it mean?

I. They purchased goods at cheaper and sold them in Europe at the higher prices.
Il. India produced finest qualities of cotton and silk that was not available in Europe.

Ill. Spices like pepper, cloves, cardamom and cinnamon were produced in India.

A) Only (1) and (l1l) follow
B) Only () and (Il) follow
C) Only (lll) follows

D) All
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67) When did the first lawful Hindu widow remarriage among the upper castes in India take place?

A) 1857
B) 1856
C) 1854
D) 1855

68) Followers of Henry Vivian Derozio carried out public demonstrations to achieve

|. the freedom of the Press
Il. better treatment for Indian labor in British colonies
lll. protection of the peasants from oppressive zamindars

IV. legal law to permit widow remarriage

A) Only I, Il and lll
B) All the points

C) Only I, lll and IV
D) Only II, lll and IV

69) Why did the Indian criticize the holding of the imperial Durbar at Delhi in 18777

It declared Queen of England as a sovereign of India

A)

B) A famine was going on in most parts of India T h f |d I

C) Huge amount was collected from the Indians to organize it eC 0 WO r . n
D)

It dethroned the Indian rulers from their positions

70) Who among the following resigned from Government service for he would not tolerate undue official interference?

A) Ishwar Chandra Vidyasagar
B) Gopal Hari Deshmukh

C) Gopal Krishna Gokhale

D) Raja Ram Mohan Roy

71) On which bill President of India exercised its Veto power?

A) Indian Post Office Bill

B) Dowry Prohibition Bill

C) Hindu Code Bill

D) PEPSU Appropriation Bill

72) Which Article of India describes 'Bharat' as a 'Union of State' rather than 'Federation of States'?

A) Article 14
B) Article 4
C) Article 15
D) Article 1
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73) Who decides Fundamental Rights can be apply to the members of the armed forces in India?

A) President

B) Armed Forces Tribunal
C) Defence Minister

D) Parliament

74) The question has two statements and some conclusions related to the Cabinet Mission sent to India in March
1946. Choose the conclusion that logically follows:

Statements:
The federal center controlled defence, foreign affairs and communications

Large measure of regional autonomy was given

Conclusions:

I. All the states were autonomous to take decisions on all subjects
Il. Federal centre controlled matters of national importance
lll. States and centre did not have to interact at all

IV. States were more powerful than centre

A) Only Il and Ill follow

powiaons Techofworld.In

D) Only Il follows

75) Read the information on the usage of technology in the First world war and choose the conclusion that logically
follows:

Information:
|. Chemical weapons became popular after Germany used poisonous gas

II. Britain and France used fighter planes after mounting machines guns on the planes

Conclusions:

I. The war became more destructive now

II. Nature of war changed

lll. War came to be fought on land, air and water
A) All

B) Only | and Il follow

C) Only | and lll follow
D) Only Il and IIl follow
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Section 8 - Paperll-Geography

76) Apart from Carbon Dioxide, name two gases which cause the Green House Effect.

A) Carbon monoxide and Nitrogen

B) Nitrogen and Helium

C) Sulphur Dioxide and Carbon monoxide
D) Methane and oxides of Nitrogen

77) Read the following statements and indicate whether they are correct.

1) Wildlife sanctuary provides protection and conservation to wild animals.

I} National parks protect and conserve an enitre ecosystem.

A) Both are false

B) Only Il is correct
C) Only lis correct
D) Both are correct

78) The system of cultivation using large amounts of labour and capital relative to land area is called

A) Extensive Farming
B) Commercial Farming

C) Intensive Farming TeCh OfWO rI d . I n

D) Subsistence Farming

79) What is the extent of Torrid Zone from the equator?

A) 66.5° N to 90° N
B) 66.5° N to 66.5° S
C) 23.5° Nt0 23.5°S
D) 66.5° St0 90° S

80) India's famous Panna diamond mine is located in which state?

A) Karnataka

B) Jharkhand

C) Uttar Pradesh
D) Madhya Pradesh
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81) India has which rank in The Global Competitveness Index 2018 rankings?

A) 1
B) 35
C) 58
D) 80

82) Pench national park, also known as "Mowgli Land", as Rudiyard Kipling's book "The Jungle Book" is based on
the surroundings of this national park, is located in which state in India?

A) Madhya Pradesh
B) Karnataka

C) Assam

D) Gujarat

83) After the partition of India, what is the main reason for degradation of jute industries?

A) high cost of production

B) shortage of power supply

C) replacement by synthetic fibre

D) shortage of raw jute and loss of market

84) Which of the following is the highest Himalyan mountain peak?

A) Yalung Kang

o e et 1 €Chofworld.In

D) Kachenjunga

85) What divides the Deccan Plateau and North India?

A) Satpura Range
B) Aravali

C) Sahyadri

D) Eastern Ghats

86) Where is the headquarter of The National Biodiversity Authority (NBA) in India?

A) Bangalore
B) Chennai
C) New Delhi
D) Mumbai
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87) Geostationary orbit is at a height of?

A) 6 km

B) 35786 km
C) 36 km

D) 3576 km

88) The Cauvery water dispute is among which two states?

A) Andhra Pradesh and Telangana
B) Karnataka and Tamil Nadu

C) Andhra Pradesh and Karnataka
D) Tamil Nadu and Kerala

89) Winter solstice occurs in which month in the southern hemisphere?

) January

s ey Techofworld. In

D) December

90) Of the total 402 million workers in India, 51.7 percent are male workers. What is the percentage of female workers?

A) 25.6
B) 49.3
C) 42
D) 35
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1|D 31D 61 | A
21A 32(A 62| A
31D 33|C 63| A
41 A 34 (D 64 | D
5|/B 35(D 65| C
6|B 36 (D 66 | D
71D 37| C 67| B
81 A 38| B 68 | B
9B 39| C 69 | A
10 | A 40 | A 70 | A
11[A 41 | D 71 | A
12| D 42 | A 72| D
13|C 43 | D 73| D
14| C 44 | D 74 | D
15| D 45 | A 75| A
16 | A 46 | D 76 | D
17| D 47 | C 77| D
18| D 48 | D 78 | C
19| A 49 | D 79| C
20| C 50D 80| D
21| D 51|A 81| C
22 |B 52|B 82| A
23D 53D 83D
24 | A 54| C 84 | D
251 A 355|C 85| A
26| D 56| C 86 | B
27 (B 57|C 87| B
28 | A 58| B 88 | B
29| A 39|C 89| C
30| C 60 [ A WA
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